STH2EE —RIFHBN-ER
TR — Adf-Y DX A

SHIEIA31BRE

AB 26, 145N

160

140

120

100

80

60

40

20

A

BTR—A®H-YDZHEE

ema
137,827M

RER
119,952F

BEH

51,1118
WEE 4=

37,884M 37,064

MR MER  zofmx
18,256 18441M 19 506

Bl =

# 8 [FE—ABrYIEbh-24
1 & £ & 2831 M
2 # % = 137,827 M
3 R % & 119,952 M
4 f 4 = 37884 M
5 % & & 19 H
6 =M KEZEZE 770 H
7 B T & 5654 M
i x = 37,064 M
9 A B = 18,256 M
10 % " & 51,111 M
1 4 = & 18441 H
128 X H % 10232 M
13 F ] & 0 M

m % ## 440041 H

XKEDM AR -

BB . HTBE. EMKEXE. BIE. EXHE




